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Urqpuhphhp
63,074.21

abtnru3g 987.5

1s91 1 100/1 trdeL urb ruLuru hmn 960lo uu L 1000 708 708.0

33691729/l Lunnnhntrih ptnnh+ uu Zuln 450 2 0.9
33691129/2 9urrohnuih prnnhn uu Unrlurt 90 20 1.8

33627290/1 Unnhtrurrhh uu Sntrh 1580 1 1.6

24321660/L Fhrmnur urilhrnhn uu Smrh 68314 4 273.3

33691133/1 Qntn unuhilurtr UU Snr-rh 200 l0 2.0

€FUhUI{ULL€ inf.fabf 34,296.0

24321660/7 Snlnrn'; qt L 1600 40 64.0
24321660/2 'Ihrihrnhr$nnrJulihn qZ L 1900 40 76.0
24321660/3 rrurr hnttf hhhnnnpuhrr qz rrq 1190 50 59.5

24321660/4 €rnnn$nnrf qz 9q 2500 90 225.0

2432t660/5 Zhpuurh SZ L 2400 90 216.0

24321660/6 Uqtuntl sz trq 938 800 750.4
24321660/7 'Ihkrahrhntn q2 kq 6400 277 t772.8
24321660/9 UhBhrrn+urrhh qz 9q 50000 50 2500,0

24321660/rO ku1 |rnttfurEfuurppr.lurllurtr / rI (u1 mnur2) sz 9q 800 50 40.0
24321660/11 trhhqnr q2 L 3000 400 1200.0

24321660/12 Uhrahrhti prnnhn qz 9q 1000 50 50.0
24327660/13 Purnurpr nn ur8luurbhtr q2 9q 15000 32 480.0

2432t440/7 Purourluurppm uunourl|rh qz hc 1000 80 80.0

24321660/14 UqnuurUurhrapnr qZ hc 1400 30 42.0
24321660/15 Uhrahrhh prnnhn s2 Irq 1500 60 90.0
243216601t6 Unurralan qt Vq 300 60 18.0

243216601r8 Obripur\uh ppnr- qZ 9q 300 70 21.0

24321660/19 hrahrhh qrhtnr qz 1500 40 60.0
24321660/20 'tlnr hiltnurrhh unrlurL SZ Zurur 50 1000 50.0
24321660/2r Lrurnnhnulh prnnhrrh rmbmrra 3r s2 1300 3 3.9
24321660122 Lururnhmrlh prnnhnh rntbmrn 3r qt 600 I 0.6
2432t660/23 kurt hnr-f urbhurBBrl urL urtr qz rrq 1500 50 75.0



2432t660/24 'Ihilhrohr kraru trnr urilhh q2 L 3600 50 180.0
24321660/2\. UurDurraranr qZ rrc 6000 50 300.0
24321660/26 Ilnbhtnh rhdnrhurrhh urr pnulhtr q2 riq 50 4700 235.0
24321660/27 .Fntpurbnt-1 q2 L 2000 10 20.0
24321660/28 'Ihrrahnurqdurb nhritrahr untr $opuhn s2 Irq 1500000 2 3000.0

24321660/29
Qn$ (4filhpltlufuopuurh) burlpurlfrh

ufr1urtrn1ur3frh ]uilphpn{,
rfurEntqhhntprnthn' 5000 cSt

qZ 9q 42333.3 J 127.0

24321660/30
OqI (qbilhpfrlufrlopuurtr) Eurlpur3frtr

uf 1uhn1u3|rLluilphpntl,
rftubmqhh nrrdrmtrn' 3500 cSt

qz rrq 38333.3 J 115.0

24321660/3r

'tln{r (a[iltp[r1u]rlopuurh) b ur1 prul ]rh
ulrlurbnlur3frh ]udphpml,

ilurEmglr\ntplmhp 1000 cSt, 100
gnunlurLno rhurBtrarurl nnrlurtir

q2 Zuru 20500 2 4I.O

2432t660/32

tlnfr (afnfhpfrlulrlopuurh) burl purS frtr
unifrbnqpnul[1 ]udphpn{,

ilurbntglr\nrp3nthg' 50-60 cSt, 100
qnunlurLnq fi urrahrauril nnrlunln

q2 Zurur s0000 J 150.0

2432t660/33

OqJr (Af ilhpfrlufrlopurutr) burl purl |rh
unifrtrnulpnqlrl |uriphpnrl,

tfurbntgfr\nr-p3nthp' 100-120 cSt , 100
qnurilurLnq rhurrahraunl nnrftutir

q2 2rurn 45000 2 90.0

24321660/34
Anft (afilhplrlufrlopuurh) burSprulfrtr

hf4popufl |urfphpml, riurbmglr\mp3nr-hp
2500-3570 cSt

qZ U1 260 1000 260,0

24321660/35

'[nl-h (.]hubrahl.o€uuL) trhu (3-

uuFLn'[fn.IIFI.) ou3fu3hL
Iuutrbfnq, ,Ihglrlt iln1. 92|rn' 2500, 50

UI- rhurBhBuul nnrlunlp

q2 Zruur 149000 2 298.0

24321660/36 qr.hSbfhL o"t I,hrnn 3s200 1 3s.2
24321660/37 1.2-'[I-n.[uLr]hoI- qz Lhrnp 32600 1 32.6

24321660/38 Snr.nu9nLh.InL qz q 6290 10 62.9

24321660/3y 'IhqI.nSbLUr{ LUSf hnhUUqUL
u1

qe q 7590 10 75.9

24321660/40 I--U1 urtrlrl -f-Ut ubhb(I--Ul ru-I.-U1 ur) qZ Uq 327 100 32.7

24321660/4r I--urrurhhr -QrhghL (L-Urrubhr -9rhshh) q2 q 61900 I 61.9
24321660/42 9ft ghLl--Uprhfrh (qfi ghr-I,-Ur ur) qz q 55400 1 55.4

24321660/43 Zhrhnril uhnrfilurb qrrrq trU funn tI 58928.5 22.4 1320.0

24321660/44 ShurnurkBhr onurnuhr hL urur q2 I-hurn 70000 I 70,0

24321660/4s 'rlnr hrlhLhr hnhh $tnnnhn q2 9nuni 950 100 95,0
24321660/46 'Tlnr hrl htrhr hnth $rnrrnhn qZ QnrurI 1300 100 130,0

24321660/47

An$rl$rfulahtr $urnpffi h
hhpuur$tnnpqnilrulpnultrth ltlt

hulftuurnrhrJhn

qt Qpuni 550 100 55,0

24321660/48 'Inulurtthhh hhnnnpr nnhn qt 9nuli 6000 10 60,0
24321660/49 tlnr hrl hhhr ul hnnr hnntr qt 9nunl 330 100 33,0
2432t660/sO 'TInrhilhbhluhnnrhnnh sz Qnunl 580 100 58,0
2432t660/51 '[nr hkohr htr urtnh$urur urur q2 Qnrurl 288 250 72,0
24321660/5L. 'TInrhurLnhrnhhrnnhr qz QnurtI 2300 50 115,0

24321660/53 2,4-Snr mhr hturhhq nqhurburul q2 Qnunl 380 100 38,0
2432T660/54 Zhpuurilhrahr hbnhhq nqhutluln q2 UI 780 100 78,0
24321660/55 1,4-trntBurtr+hnt SZ I.hun 30000 1 30,0
24321660/s6 9tnnnhtrqnt q2 Ur 150 500 75,0
24321660/57 1, 1, 1,3,3,3-Zhpuunfhurhrnhuhr urqurh qz I.hun 250000 I 250,0



24321660/58 Zhruntnurrapnt s2 trq 31s000 1 315,0

24321660/59
2,2' -+ShLbll- 1 -qf\nfuhfapuqf l

nur4hhurt
q2 Qpuni 150000 2 300,0

2432t660/60 Zhrrnurq hh rfntnhhnnunn, 98+o/o q2 Qnruri 74 500 37,0
24321660/61 2 - UhraopuhkBhr unihtr, 99olo qZ Ut 620 50 31,0
24321660/62 hrohr 3-unihtrnh nnurntruru, 98o/o qz 9nurtl 580 100 58,0
24321660/63 €r nnurqhuhr pr nnhl, 98o/o qZ Ur 80 500 40,0
24321660/64 'Tlhnnrhahh 99olo qz Ur 84 500 42,0

24321660/65 Otpurghl qz 9nuril 350 100 35,0
24321660/66 9nhurtnhtrh rrntr$uru qZ 9nuril 220000 3 660,0
2432t660/67 'Ihdhrahruntr$opuhn qZ rrq 15000 10 150,0

24321660/68 Urlhurhruqmn sz I.hrnn 600 20 12,o

24321660/6v ULurqlr (II) 2-fpf l htpuurtnunn qz QnrurI 350 100 35,0
2432t660/70 'tlhrlurtrurarant sz I,htnn 90000 1 90.0
2432t660/71 l-Iurr nhurrorad h nhkBhr kurohn sz 9nuni 38 1000 38.0
2432t660172 l.Iurtnhurppnr qz Qnunl 272 s00 136.0

24321660/73 l.Iurr nhrurarar] h rlnLnkohr kurahn s2 9nrurI 5400 20 108.0

24321660/74 2.2-nhrikBhr - 1.3-nhopurutr-4.6-nhoh qz Qnuril 990 200 r98.0

24321660/75 2-nnmlurqhtnn$hl:ntr g2 9nunl 700 100 70.o
24321660/76 1-pnmfnnnhLurh s2 $nuil 138 500 69.0

24321660/77 l-nnnrfhhpurunthrutr q2 QnrurI 240 100 24.0

24321660/78 1.2-nhnnnrfkourtr q2 Qnruri 160 250 40.0

24321660/79 1.6-rlhnnnrf htpuruh s2 9nrurI 160 s00 80.0

24321660/80 Ztpuurh s2 I.hurn 66400 2.5 166.0

24321660/81 'Tlhrnnnrhntil krahn s2 I.hun 42800 2.5 r07.0

24321660/82 trhtronr qz I-hrnn 167000 I 167.0

24321660/83 finpn$nprf qZ I.hurn 44000 2.5 110.0

24777160/1 Uqnur quq qZ funn il 2000 96 196.0

24321660/8;
Z|apuqf L rinbnhfr4purtn

Hydrazine monohydrat e, 98o/o
q2

9nruri
100 500 s0,0

24321660/85
3frurhur ghurunf [r4, 99olo

Cyanoacetamide
qt

Qnunl
160 500 80,0

24321660/86
$nu$nplr opulrplnplr4, 99olo

Phosphorus (V) chloride
qZ

kq 90000 t 90,0

24321660/87
Qfu1hpuqfh 1np,99olo
Piperazine anhydrous

s2
9nunl

86 500 43,0

24321660/88 silhh-60 gZ trq 77000 0,1 7,7

24321660/89 lJurrnnt hilhnuhnh rnu qz trq 130000 0,1 13,0

24321660/90 fun1 |rLhuphntqur u1ruurpururnmll qz Uq 1000 150 150,0

2432t660/91 l, 1, 1 -tnplr$rnnpurqhunh qZ Qnruil 7200 5 36.0

24321660/92 'Ihnhhohrbturnh q2 9nrurI 1800 25 45.0

24327660/93
Un4lrmrl 2,2- rlblihpbl-2-u[rlurqhhururtr-

5-unttSunn
s2 Qpull 35000 I 35.0

24321660/94 Snhqrhqhtr q2 Qnuni 35000 1 3s.0

24321660/9f ShrnnurqrhqhL qz Uq 300 s00 150.0

24327660/96 Zhruururqrhqhtr s2 Uq 1400 75 105.0

24321660/97 ZhpuruqrhqhL s2 Uq 850 100 8s.0

2432t660/98 4-urilhtnnhhqnruft'ranr- qZ 9nurr.[ 3400 f 17.o

24321660/99 Lhhnurhhrurihn qZ Qnunl 300 100 30.0

2432t660/rOO
1 -tp[y3 -ilhpfu]rflr4urqnl urghuurtn

(EMIMAc)
qz Qpuril 22000 5 110.0

24327660/r01 llnnullhh tr qZ Qnruri . 1160 25 29.0

2432t660/r02 2-$htrhr urqtun$hlntr q2 Qnunl 960 25 24.0

24321660/r03 9rhqhtr q2 Qnunl 260 50 13.0



24321660/tO4
I -pntpfi-3-dhpft]ilf4uqn1-
hhpuur$nu$unn (BMIMPF6)

q2 Qpuril 3400 25 85.0

2432t660/tOs
I -pntpfr53-rihpf $ilf auqnl-plnphq

(BMrMCl)
qZ Qpull 2000 25 50.0

24321660/106
1 - hp[-3 -dhp]tft dtrrtu'qrl- plnFh+

(EMIMCl)
q2 ttpurd r640 25 41.0

24321660/10Z-
1 -hpf 1- 3 -ilhpfu Jttif 4uqnl-Fpmfhr

EMIMBT)
s2 Qpuril 1680 25 42.0

24321660/108 trnt$hnurthh lmEnrlra 4.0 pH sz Ur 40000 0,5 20.0
2432t660/rO9 .Fnt$hnurthh lmEmrra 7.0 pH sz Ut 40000 0,5 20.0
24321660/tt0 trnt$hnurthh lmbmrra 10.0 pH sz. Ut 40000 0,5 20.0

24321660/rr1
Agl AgCl ulurpmlnu\nq hlh\urpn4h

uurhhtnt lntEmrp
qz U1 120000 o,2s 30.0

24321660/tr2
1 -pmplrl-3-iltpf $df 4uqn1-

urturpur$urnppnpruur(B M I MBF4)
q2 9purd 2800 2> 70.0

24321660/1r3 2-rmrahh-1-ol sz $nrurI 9600 50 480.0
24trrr20/l ZhqmU hhrhmrl tru L 17s00 2s0 4375.O

24tlrr20/2 Zhnmh hhrhntil tru L 28600 200 5720,O

24tttr70/l Zhqnt\ ruqnrn sz L 400 200 80.0
24ItIt80/7 faBqurbhL curq qz .Furtntr 3s00 50 175.0

24321650/1 e1hchphl' sz trq 1500 10 15.0

24321,660/1r4 €rnnn$nntf (U) qz L 4500 3 13,5

2432t660/rE Uhpulnr (U) s2 L 1500 2 3,0

24321660/116 Qruq unqntr q2 trc 3750 t2 45,0
24111160/2 9urq uronur q2 funn rI 1500 6 9,0

2432t660/r17 P-urnrmrurnhhhn s2 trc 79000 1 79,O

24321660/rr8 trntrohnhr lunr hh hurahnuro ru (rfurnnnr-) qz hhur 650000 2 1300,0

24321660/7t9 Uoturhr lunr hhtunhnurqur 50 rnr-trhur q2 Zunn 1100000 I 1100,0
24321660/t20 2,2-nh$hLhr - 1 qhbnht hhnnruqhr sz 9q r00000 5 500,0
24321660/r21 Uuru-ul hul rnntluthh ruqurTr qz 9punl 40 500 20,0
24321660/r22 IJuru-u hu urnhurrhh runqurtrurt qZ 9nrurl 40 500 20,0

r-utrnf usnf uuceuqnf nhIILbn 5,248.7

4417t400/t Lmnn ppnrfnurnonru$ rahrahn qZ Snuh 46000 3 138.0

33111100/1 fthtrtnqhh tunnnrlurh qZ Zunn 89s000 I 895.0
38411100/l Uknmlhtnn tnrlurrthur q2 Inilur. 50000 1 50,0
38431590/1 UurqLhuurburtr luruntrhr urupurodnn qz Zuru 135000 3 405,0
3843159012 Uurchhuuburtr hurnhhl qZ Zunn 60000 3 180,0

38431s90/3 UurqtrhuurL urh lurunLhl sz 2urur 80000 4 320,0
33191200/7 I.rupnnunnnn uhnurhhh 20/20 qZ Zurtn 20000 2 40,0
33100000/1 UuJhnuurrnnq - 150 ilr qz Zuln 2000 I 2,0
33100000/2 Qnn&urblrahhnh runuurhrl qZ 2rurn 1200 I 1,2

33100000/3 Qhnriurrulh rrh$nrl 0-300'C s2 Zuur 4000 3 12,0

33100000/4 .lurtmnuf nhurlrtrt lunrrnrlurh q/ri sz 2uln 700 l0 7,O

33100000/5 Gru unnhr dhururnurL urh cIz Zurur 1500 f 7,5
33100000/6 .Fntrhr qz Zurtn 3000 ) 15,0

33100000/7 fthurhhh hqutrh Eruhhl q2 Zurut 5000 1 5,0

33100000/8 fthr.nhhh luquh 14 qZ Zuru 100 50 5,0
33100000/9 Cnrah $hrurn P-16 q2 Zurr.n 1200 20 24,0

33100000/10 Uruhnrnh luururrulh, UU'[I-3, 0-40 q2 Zurtn 4000 1 4,0

33100000/11 Uurhnrnh luuurrulh, UU'II-3, 40-70 qZ Zurur 4000 I 4,0

33100000/12 Uq hnrnh ]urnurlunlr, UU'[I-3, 70- 1 00 qz Zruur 4000 I 4,0
33100000/13 Qnurrhh purlhhp, tthh urtnurhh qz Zruur 5000 2 10,0

33100000/14
Uqur\3ur hh\*n"+ UUfI unfqnr-1ur1nuf

pH lulhhtnt hurilurn
sz 2unn 215000 2

430,0



33100000/15 tlnqururnTr 0,5-10 u, qZ 2unn 60000 1 60,0
33100000/16 tlnqunnnn 5-50 u, sz 2unn 60000 1 60,0
33100000/17 'InqunnnTr 100-10000 u, qZ 2urur 60000 I 60,0

3843L590/4
Uurqtrfruurlurh luurnhlr2fr urh$lnhurqurur

@TFE) ilurqhhuht 2ud
sz Zuln 300 10

3,0

38431590/s
Uurqblruur\urh luruntrf 2|r rnh$lnhuruluu

(PTFE) riurqhlrulrll 2,5url
s2 Zunn 500 10

5,0
38431590/6 Zhrnrunurn& uurnhurnurtr 1 4/1 4 q2 2unn 6000 z 12,o

38431590/6 llurqhhuurh urh tuurnhhr CT2 2unn 130000 3 390,0
33100000/18 I LJnr-phnh hurlrlurtr httnE nnn2nl uurnp 1 s2 Zrurn 550000 2 1,100,0
33100000/19 I Ltntphph hurtrlurtr llhr+E npn2nq uurpp 2 s2 . Zunn 1000000 1 1,000,0

trdcququL LcuLuqnr.rdSuL uqruuPLbr 2,563.7
33r4rrral faurtrqh$ uu u r50 120 18.0
33141110/1 'lhnruhruur uu 2rurn 300 60 18.0
33691390/1 'tlhruhur uu Zrurn 21500 2 43.0
33141142/l Lhnurnhhr lilr uu 2unn 50 30 1.5

33r4tt42/2 Lhnurnhhl2rir uu Zurur 20 200 4.0

33r41142/6 Lhnurnhhl3rfi UU Zunn 40 10 0,4
3314tr42/3 Lhnurnbhl5rh uu 2uru 20 50 1.0

33r4rr42/4 Lhnurnthl lOilr uu 2unn 30 30 0.9
33141142/5 Lhnurnhhl20ttr uu Zruu 40 20 0.8
33161260/1 Utrurrhqh rmurrur uu 2unn 100 10 1.0

33t41rtt/1 Irru rnth uuhnrutrh trnnnhq UU 2unn 400 10 4,0

1831 1 190/1 fuurt urro rfhL urhqurilrur uu Zuru 500 10 5.0
18311 160/1 trrutuhr uu Zruur 25 200 5.0
18441100/1 trdrlr urlr rutr qr luurnb uu Zuru 25 200 5.0
33r4tr29/l 'Ihilurb pdrlrruhrutr uu Zruur 18 1200 2r.6
33141,729/2 'Ihrftut ndrUruhurh uu 2urtn 2t5 500 107,5
44111450/1 Unruntruturhurh unu ruth uu Snr-rh 540 20 10.8
18421130/1 Qhnbnq ndrlrruLurh UU Zurtn 30 2000 60.0
t842rt30/2 lhnhnq pdrtrruLruh UU 2urur 38 1000 38,0
031 11250/1 trurtfrurh UU Zuru 200 500 100.0

15991700/r $hrurnh Dnulrd uu rrq 3200 20 64.0
ts99t7oo/?- Orhlllhpuurf hlqhlluunnh pn ttp qZ Zrurn 3000 25 75.O

38411200/1
O2 \nLurur\ururl|rh lrh$pur\urprflrp

qhnr.furlurh UU Zuru 55000 1 55,0

3362t64r/r
Zur\urpru\urhpfrurl hhrlnt\,Lrlurgnq riltZttg

Ahnphnn ruluunuhurhtl nr- hrurlurn
uu Zruur

450 60
27,0

33621641/2 Lurhurtlurhnhurq hnbnn I mbmrp UU I-hrnn 2700 32 86,4
33r9r3r2/1 9nr nur tr nnruhunnurL,erh$, 50rlt SZ 2urur 1200 15 18,0

33197372/2 9nlpur llnnurhurururL,rthg, 100rlt qZ Zuru 1500 15 22,5

3379r3r2/3 rrnlFur llnpruhurulub,rrh$, 250rlr qe Zunn 1500 15 22,5

33r9r3r214 9nr pur hrnnurhurururt,zh$, 500ilr qZ Zruu 1800 15 27,0
33191312/5 9ntEut ht nnruhuruurh,rr h$, 1000rfi qz 2unn 5000 10 50,0
33191312/6 9n1pur \1 npurhunnrub,Zf h$, 3000rlt q2 2uln 7000 2 r4,0
3319r3r2/7 9nrnur hrnnurhurururL,rrhS, 5OOOrfi qz Zunn 10000 2 20,0

33191312/8
91npi:rhunnur\ \npurhhp n2 hru1h1url|rh

rrh$hhnnrl
qz

2uru
0,0

33r9r3r2/9
rrlnpurhunnur\ \nlurLhp n2 hurlhlurlfrl:

rrh$hhnnrl 100 rir
q2

Zurtn
1500 2 3,0

33191312/10
9lnpurhunnur\ \npruhhp ny hur3hlurlfrh

rrh$hhnml 250 rfi
qz

Zuru
3000 2 6,0

33r9r3r2/7r
9lnpurhurtnur\ \npurhhp n2 hrulhlur3frh

rrhghhnnrl 500 dl
sz

Zuln
4000 2 8,0



33t9r3r2/12
9lnpuhururur\ \npurhhp n2 hur1h1ur1|rtr

lh$hhnnrl 100 rfi , tnunnntnntuurrhh
qZ

Zunn
1500 2 3,0

33r9r3r2/13
Hlnpu:hunnur\ \npurhhp n1 hur3t1ur3]rh

rr h$trhnnrl 250 ilr, hnururntnntuurrhh
q2

2rurn
3000 2 6,0

33191312/14
\lnpurhunnur\ \npurtrhp n2 hur1hlu1|rtr

qh$trtnml 500 rft , tnururnr-nmururhh
qz

Zruur
4000 2 8,0

33r9r3r2/15 9n1pur llnpurhunnur!,3 urrrrpmu, 250tlr qe Zunn 1500 15 22,5
33r9t3r2/16 rtnlpur ttnnurhururur!,3 urnr-pntu, 500rlt sz Zunn 5000 10 50,0
33r9r3r2/17 rtnlpur llnnurhrurnurb,3 urmFntu, 1000ilt qZ Zurn 6000 10 60,0
33r9r3r2/18 9nlpur llnnruhruurrut,3 rnnrpntu, 3000tlt q2 Zunn 12000 ) 60,0
33r9r3r2/19 \n1pur hnt hhilhhn,rt h$ ulruruurht, 50rlr s2 Zunn 900 15 13,5

3319t3t2/20 trn1 pur knr hhrihhn,zl|r$ ulluruuhlr, 100tlr q2 Zurut 1200 15 18,0
33r9r3r2/2L, 9n1pur knrhtnfhhn,zlfr$ r{1uluu}r!, 250rir qz Zunn 1500 15 22,5
33191312/22 rrnr nrir hnr htnfhhn,rr h$ rur ruurnhtr, 500ilr q2 Zrutn 2000 10 20,0
33197312/23 rtnl Fur hnr hhrihhn,zrh$ rurruurnhh, 1000ilr qZ Zrurn 3000 l0 30,0
3319t3r2/24 knlFur pmhqhh 250rlt sz Zurtn 1200 5 6,0
33r9t372/2s 9nrnur nmhqth 500ilr qz Zrutn 2000 5 10,0
3319t3r2/26 r{nrnur pnthqhh lO0Ottr se Zruur 2500 5 12,5

33191312/27 Vnrnur nmhohh 2500rir SZ Zruur 8000 5 40,0
3319r3r2/28 knlpur pmhqhh 5O00rir sz Zurrn 1s000 5 75,O

33r9r3r2/29
llnhurd.h hurppurhurururh lt^U* ZtJtS".l It

hqurbhhnill,250 rir
q,

Zurur
ls00 10 15,0

33191318/1 trurdrulr 50 ttr qz Zruur 700 t7 1 1,9

33191318/2 trurdurb 100 rlr qZ Zruur 1000 t7 17,o

33191318/3 trurdurt 150 rfi q2 Zurur 1000 l5 15,0
33191318/4 trurdurh 250 rir q2 Zruur 1300 t7 22,7

33191318/s trurdtuLr 400 ilr sz Zuu 1500 l5 22,5
33191318/6 truduL 600 rI q2 Zurtn 2000 15 30,0
3379131,8/7 - truduh 800 rI q2 Zurtn 2200 l5 33,0
33191318/8 trurdurL 1000 tir CTZ Zruu 2500 10 25,0
33191316/1 UhhqmnLur 10ilr sz Zunn 600 10 6,0
33t9t3r6/2 Uhhqntnbur 25rlr qz Zrutn 1500 12 18,0
33191316/3 Uttrqmp\ur 50rI1 qz Zuln 1600 15 24,0
3319r3t6/4 Uhhqmnbur 100rt qz 2ruu 1900 15 28,5
33191316/5 Uhhqmnhu 250ilr q2 Zunn 2000 10 20,0
33191316/6 Uthontnhru 500rJr q2 Zurtn 3000 l0 30,0
3319r3r6/7 Uhhqmnhu 1000rlr qZ Zrutn 4000 10 40,0
33191316/7 Urnhd nl hurrhurrhtr rrh$hhnntl 14114 q2 huur 3000 2 6,0
33100000/1 Urnhd nr hrurhrrurhh rrh$hhnnrl 14129 qz Zurtn 3000 2 6,0

33100000/2
,l-nq-\ n2 hrulhlu1frtr 2fr$hhpnrl

rata14 s2
Zruu

3000 2 6,0

33100000/3
.l-nq-\ n2 hur1t1ur3|rh 2]r$hhpnr{

r4/r4/29
q2

2uln
3000 2 6,0

33191314/T trurdurhhl &r:rqun 50 ilr q2 2urur 1500 2 3,0

3319t3r4/2- trurdurhhl &urqurn 100 ilr qz 2urur 2000 2 4,0

33r9r37413 trurdurhhf &urqun 125ilr qZ Zurur 3000 10 30,0
33r9r3t4/4 trtudurtrhr &urcurn 250ilr qz Zurur 6000 10 60,0
33I9I3I4/5 trurdurhhl druqun 500ilr q2 2ruur 7000 10 70,0
33t9BtA6 trurdurhht d,urqurl 1000il1 q2 Zuln 7500 10 75,0
33t9I37417 trurdurhhl &rusrun 2000ilr qz 2urur 1s000 10 150,0
33191314i8 2urqurn $hrurnrfurtr 60ilil q2 Zurtn 700 30 2t,o
3319r3r4/9 2ruqurn $hturntfurh lOOilil SZ Zunn 1000 30 30,0

33191314/10 Uuturbtur &urgurn 3.6 uri qz Zuur 450 2 0,9
33r9r3t4/11 UruurLrur &urqurn 5.6 url q2 2uur 600 2 t,2



42131430/r rhurh urhhhnh rurndurh htn uu Zunn 1500 20 30,0
44423600/1 dunuunlhh hrurmtr uu Zunn 800 105 84,0
44423600/2 'Tlnr hrihn ruurlrnlln druru unl hh uu Zurn 450 50 22,5
44423600/3 Uhtnruhr dururunlhh UU Zurut 250 50 t2,5
1842t130/1 thntnq rurlnlnnurburh uu 9nttq 300 220 66,0
18421130/2 2hnlmg urhuhuurllurtr uu 9nrg 300 300 90,0
18931130/l 'Tlurnt urhurhuurt urtr UU Zunn 100 250 25,0
33761100/1 9ntq.pnr4p UU 2unn 100 2000 200,0
42r3ttoo/2 OurLrutr rrnurh uu Zuln 7000 10 70,0
33141 I 18/1 Uldhnnsht uu Zurtn 200 150 30,0
39514400/r flnratur unphr uu Zurur 700 80 56,0
39831282/r 9urhnrtp rftupnhrnr rurra UU Zurur 160 85 13,6
39831242/1 trlurqph rhnrh &tnpml rrlurhurrnt hullurn uu Zurtn 400 96 38.4
19641000/r rqnf hhphf hhurthtr ulurp!, urnph hrurJurn UU Zunn 600 l5 9,0
19641000/2 'Tlhhnrqluruur UU Zuru 800 4 3,2
39831283/1 hurururbh t rlurqdurh t urrd uu 2urur 760 35 26,6
3983r24t/L Qhnph odurn uu Zurur 100 300 30,0
39831240/1 rlurpnnn htmrahn uu Zrurn 350 r92 67,2
39831245/1 Ztnmh odurn UU 2unn 550 48 26,4
39221410/7 Urlhr uu Zuu 1000 20 20,0
30192790/r Ourttruphphn uu (Dru1a 1000 10 10,0
t9241200/r lururl unlnn qnnErl urbphhn UU U 2500 70 t75,0
3r21rr40/1 hr.urulrrrhrrrlhl uu Zurtn 3100 10 31,0
31686000/r fuF tg uu Zurur 350 l8 6,3
31211180/1 ht. Uhpunnhf 1 urhnurtrh uu Zunn 1000 20 20,0
3t2tII80/2 Urlrnntlurtn ruhqururhr 25A uu 2urtn 3000 l0 30,0
3r21 1 180/3 Urlurnilunn urhqunnhl hnur$urq uu 2uln 7000 8 56,0
3r2rII80/4 Ur.lrnnrftuur urhprutnhrh urnr-rh uu Zunn 4000 4 16,0
31s12360/1 rntuurn&urbtrhn UU 2rurn 4300 t5 64,5
3t5t2360/2 Lhn tnturun&rult uu Zurtn 4800 20 96,0
44747200/1 h.rnyrutluh uu 2rurn 550 18 9,9
31321200/l ht.I.urn uu LI 250 400 100,0
3132t200/2 I-urnh ullnurh UU 2ruur 6 200 1,2
31684400/I - Lr.rftunnrul.r UU Zunn 1000 30 30,0
3r5t2430/1 hr.rruilq l00W uu Zurtn 120 400 48,0
31512430/2 Shnhburrhh rrurlur l20 url uu Zunn r000 20 20.0
3983r24s/2 Uuluhh rlurpntr m htnnr-h uu 2unn 1000 t2 12,0
444[OOO0/7 Uhgnhh qltuhb uu 2urtn 500 10 5,0
44410000/3 9ntgurpurhurb ntrph t rurhurnhl uu 2urur 5000 5 25,0
39221480/r gntgurnurtrurhnhph lunq ulhuh uu Zunn 1000 2 2,0
44411760/l 9ntgurnurhlr BnBh Fnhht uu Zunn 3000 1 3,0
19642200/7 'tlnr hhBhr hhurthtr Burn ruhB UU Uturn 250 30 7,5
42r3r470/3 OnnurLh ilhqntt uu Zrutn 550 30 16,5
42131470/4 Onnurbh rihqmh uu 2urur 750 20 15,0
42I3I470/2 'Inurh rhurLrutrh rjhqmL Turi uu Zuln 1800 4 7,2
42991420/r gnh Shutn UU Zuln 11000 f 55,0
44411740/2 9ntqunurhurhnhp uu Zunn 35000 2 70,0
44411740/3 9mqurpruhur\"ttplr purplr rlhfu urhlrqrl uu Zrurn 3s00 10 35,0
44411740/3 Iturlunrlh hnrrrukp uu Zuru r000 2 2,0
44r92700/t- Lhnll urnurnur! urtr qt urtr UU Zuru 1800 6 10,8
39227460/1 Lhnh urnurnurlr ruh rln&hh uu 2urtn 700 6 4,2
37451640/1 Ilunnn uhullurnurh UU 2unn 1200 30 36,0
37451640/2 Ubull urnurlr ut rluruurh uu Zurtn 2000 1 2,0
t452tl7t/2 Urrurpurn uu Zrurn 1000 2 2,0



44161240/3 Uqnqurlhnn UU 2urur 130 ) 0,7
14810000/1 ZnLurramlra UU u 2000 5 10,0
14810000/4 qr hhh hrrt urBnrah huLfurn UU 2unn 450 2 0,9
14810000/s trrulrurrh 22x24 uu 2unn 1500 2 3.0
37451640/3 qnnbhphhnh runLn q2 2rurn 4500 I 4,5
374sr640/4 Zh&hlh rurn q2 2unn 4000 I 4,0
31685000/1 h. hnLurnurqilurh rurn uu Zunn 3500 2 7,O

3r512360/3 I-muururmh urnurnht hq urrrnn s2 Zuur 1200 4 4,8
31512360/4 I l.hrl Lntuurunt 60url q2 Zunn 3000 t2 36,0
31512360/5 I.h4 Lnruunnnr- 24w sz 2unn 5000 6 30,0

GFLUL3NhTd 3,766.Lt
31683400/1 bnurpur2|ulrl [/q -Lh UU Zunn 3500 30 105,0
3t683400/2-, bnurrurrtuhr rllur UU Zuln 4000 ) 20,0
31683400/3 'Tl.[P tnurpur2luh) O 100 uu Zunn 800 10 8,0
31683400/4 'tl.l€ urhLrnr.tr O 100 uu Zuru s00 10 5,0
31687000/r Ulrqntil {/u -th. uu Zuru 1800 30 54,0
31687000/2 Ulrhrnth {/w -rh uu Zrurn 3500 10 35,0
24911200/r frlntlufur UU Zunn 4000 ) 20,0
44410000/2 9ntqurnuhurLnhph uh$ntr(qn$nh) O 100 uu Zurtn 2800 4 ll,2
44831500/1 I.n6hr 0,5r ct2 Zurtn 800 10 8,0
42tlt2r0/1 Ufpbnpilf uutrh uu Zrurn 400 20 8,0
44161240/l &\nth tunlnrlutt uu Zruu 1200 30 36,0
249rr600/2 hruopuhrhh unuhh& UU Zunn 1500 4 6,0
249rr600/5 U'IS-h unuhh& UU 2unn 2000 3 6,0
24911600/4 Unuhh& 

--ZtnntL 
rlhlu uu Zurtn 2300 ) 1 1,5

24911600/6 'rI.{U unuhtrd. 1,0 !q uu Zurtn 1000 5 5,0
436rrr90/5 funlnrlurhh hquilulu uu Zuln 800 100 80,0
436t7190/4 funnmlurbh horurluru uu Zuln 1200 16 19,2
441114T6/I- Lhnh drul.rruuurrhtr qz 2unn 21000 6 126,0
44411300/r I,rlurqulnurL uu 2urtn 28000 4 112,0
4441t300/3 Lrlurqurnurtr thnrurihtrruturh nurpnrl uu Zurtn 20000 2 40,0
317t1250/I 'Tlnrhrlhnurrhtr dtrulunnnrlurtr uu u 400 100 40,0
44III4t3/1 LtnL rnr-nurtrhnt UU Zurur 8000 4 32,0
44117413/3 3nuurtrtnb s2 Zurtn 8200 5 4t,o
44810000/1 Ltnb tunnhpu uu Zuru 9500 f 47,5
44921s00/7 O'hftuiluE[\ qZ Qruntt 4500 10 45,0
44921500/2 Ohrhunirubhh h rurl durrhtr qz 'Ilurnh 6500 5 32,5
4492trtO/7 Qhruu lurnrulu qz alunt 2400 10 24,0
44192400/1 Quc qz 'TIurnh 1300 10 13,0
441t1200/1 Strihhrn sz Qurnlt 3000 15 45,0
r42rlr00/r Urlurq q2 qulnh 2s0 60 15,0
42131230/1 Ourhruh qnh UU Zrurn 2300 30 69,0
42131230/2 9nh rlrurburh qbnhtudnn 3/+ nrrrrrl uu 2rurn 3000 I 3,0
42131230/5 9nh rhurtrurb.{/u rh uu 2rurn 3200 10 32,0
42131230/3-. 9nh rhurhurh 3/+ nntrrl uu Zurur 3s00 2 7,O

4265t200/1 'I.1mphl uu Zrurn t0 400 4,O

42651200/2 thntntr 
r tlurqurnurhh unlnurqilurh UU Zunn 350 3 1.1

44161240/1 funlnrlurlr rflru uu u 360 100 36,0
44r6t240/s tunrmlurhh hquliluu hhthr UU 2rurn 1500 2 3,0
39191100/1 Qhuru uurdurnurronnh uurr hl.t qZ 2urtn 4500 10 45,O

42131490/1 Uf$nlr uu Zruu 1500 20 30,0
42r3r490/2 Uh$ntr trlurqurnutrh UU lunn 3500 10 35,0
44III4I7/I Lurluurhhnt UU 2uru 3200 5 16,0
44411100/1 Onnurb uu Zurur 3000 30 90,0



444trtoo/3 fu urnhhr Ennurh r rlurqurnulhh uu Zrurn 15000 I 15,0
3I717250/I tI-{€ }unrrnrlurt uu Zunn 600 60 36,0
42991470/I '[.{€ tunnnilurth hquriluru uu Zunn 500 60 30,0
3r7rr250/2 'TI.{€ tunlnrlurh O50 2rI uu Zunn 1000 30 30,0
3I7It250/3 '[.{€ }unnnr]urt @100 hI UU Zurtn 1500 5 7,5
31711250/4 A-{€ }unrrnrlur\ (D100 0,5rI UU Zurur 600 ) 3,0
31711250/8 Uhurur4urutrl uruurh hnrrnr] urt O20 uu Zunn 1000 100 100,0
31711250/9'' Uhrnurqurl urn ulnrluturulu uu Qc 700 5 3,5
3171r250/rc turhqurrhh rrun UU u 100 120 12,o
44t63rrr/7 9nurhhnurqrftuh urnr.tmLb Fl 50 UU Zuru s000 2 10,0
30192233/1 Uhrhtrntr UU Zrurn 1000 5 5,0
44rtr4t2/7 Uhurhlrnn trhnL uu Zuru 3250 2 6,5
39299200/1 UururLh uu €urn rI 7500 10 75,0
4267tt40/1 httLunnn UU Smrh 3800 4 15,2
35111190/1 Optr.p 2frhurprupru\urh uu Zunn 2100 ) 10,5
44t92630/r Zhntnru UU rrq 1350 2 2,7
44521230/r UrJnrub UU Zuru 40 200 8,0
3t711250/5 Uhurununururuurh urtrontrf 1/2 UU Zurtn 2000 16 32,0
445t1340/2 QurrrhLnh uu Zurtn 1500 3 4.5
44322100/4 ht rftutmlu 2x4 hrnn uu rlhurn 700 45 31,5
31331 120/1 Uurrmlu 4x1Orft['? qZ Uhurn 2600 30 78.0
31300000/1 Unrtnrh 4x4rhl2 sz Uhtnn 800 25 20.0
3L2III8O/4 Urlrnmlurur ruhquuhl hnru$mq 100A nz 2utn 1s000 1 15.0
3122t242/l 'Itntph rururuurht 8ilr.f qz Zrur.n f 100 0.5
44531t60/3 'Tltnnunurh 3,5x40rJil q2 Zruur 5 100 0.5
4452t230/r Lurnh uninrut N8 qz 2rurn 15 100 1.5
44521230/2 Lurnh urlnurh N6 q2 Zrurn 8 100 0.8
44221140/1 rlnm ur1 1nr-rfhhh runnghr hq sz 2rurn 86172 2 172,34
4422tr40/2 'Inm rullnttfhtrh orlurrur&h runn$hrhq 1 qZ 2urur 475716 I 475,72
44221140/3 rlmn urllnttlhhh orlrurur&h urnn$hrhq 2 s2 2rurn 365100 I 365,10
44227100 Uhururn unl I uruurh u rurnlthruh q2 Zruur 2t6480 1 216,48
44192300 'Tlururnthurtrurqrq ul I uluuhL h q2 2urrn 22680 1 22,68

44921It0/2 Qhuu rurnurlu 30Lq qz Zruur 2400 15 36,00
4492t500/3 Ohrhurilurbhl,r qhut uurrhh 3Ott o q2 Zuur 4200 2 8,40
391,9t100/2 thrlu-utnrhunurranrah urur ht onurtuunth q2 Zunn 4500 l6 72,00
4443t400/l 'thnghr U-21 q2 Zruu 500 12 6,00
44431400/2 'tlnn$hr F-47 q2 Zruu 850 l0 8,50
44431400/3 'tlnn$hr U-50 qz 2nrur 1000 8 8,00
4443t400/4 Ann$hr G-60 qz Zurtn 1400 9 12,60
44410000/3 &urphnh qurhq 5uilx90d q2 2unn 1300 2 2,60
44161240/4 'TlturuurhL nrmrhr 6rld sz 2rurn 3 300 0,90
4453lrro/1 'Ihnnr-urur! 31iilx35ilil sz 2urur 5 300 1,50
4453rtr0/2 'Th.nnrururb utr 25rirl qz 2urtn 5 1500 7,50
4453rrr0/3 'TlurrrrnurL uh 45rid q2 2ruur 13 s00 6,50
4453rrr0/4 'Ilurmrnurb hhpbulurunntnrlm 3x1 2rlrt s2 Zunn 4 500 2,00
44ITI4I7/2 Lutuurtrhnh 10bq q2 Zurur 2500 1 2,50
44ttr416/2 Ltnh durhunnurrhh l5r s2 Zruu 21000 I 21,00
44410000/4 O4utmtuhl O=12,5urJ qz Zurur 6000 2 12,00
31683400/4 'tI.[€ hnurrurr]uhl (D =100ilil q2 Zrutn 800 I 0,80
31683400/s n.{€ urhhrmh O =100ilrl qz Zunn 600 1 0,60
31683400/6 'tI.{P hnrillrut O 50-2il cIz 2uln 1200 2 2,40
31683400/7 'TI-{€ }unnnrlur! O 50-1il q2 Zruur 6s0 4 2,60
31683400/8 'TI-{€ hnrupur2fu}r1 O 50 qz 2urur 250 4 1,00
31683400/9 'tt.l€ utrhimtr O 50 qZ 2urur 250 7 1,75



3t7tI250/2 -8lrq
qz Zuln 2800 2 5,60

317t1250/3 I-rlurqurnurhh dh rulum nrl urt s2 Zuln 1800 1 1,80
444|OOOO/3 I-rlurqurnurhh uh$nh s2 Zunn 3000 1 3,00
44417100/4 Onnurh rrhuqurnurhh I utnurhh qz Zunn 6000 1 6,00
31687000/3 Uhqnr-f nnnhqh lnnttrfhq- 1/2 nrr nl q2 Zunn 800 2 1,60
44410000/4 Lhn rmuurnd,urb 24W nz Zunn s000 6 30,00
249tr600/7 UurrhUh unuhtrd,25Lq SZ Zunn 3700 10 37,00
24917600/8 Uurrhth unuhh& q2 'Ilurnb 3800 3 r1,40
44410000/5 Lhnhh qrurhhb 30uil q2 2rutn 1800 2 3,60
444t0000/6 Lhnth qruhhL 15ud s2 Zurtn 800 2 1,60
44410000/7 Lhnbh lmurrru cr2 Zruur 1300 I 1,30
44411740/7 9ntqurnurhurhnhp q2 Zruu 40000 3 120,00
42t31230/6 9nh rhurhurh qbnhbuldnn 1/2 nnr-rtf q2 2unn 2500 6 15,00
43611190/6 funnnrlurhh h quiluru urhtrnth q2 Zuln 50 15 o,75
436rrr90/7 fu nn unl urt h h qunluu hnurrurlluhr qz Zurtn 80 13 1,04

43611190/8
tunqn{u\}r \gunfuru rfhrnurq}g -

ruturuurhL O20
s2 Zruur 1500 8 12,00

44t6r240/6 tunqn{ur\ rqpruurfrll O20 (uturtlu) qz Uhtnn 450 t2 5,40
44r61240/7 Uhururnlur hnnnrlruU purnurtmuh 30x30 qZ Utun 1000 T2 12,00
444LIIOO/5 Uhhd buhnllph O100il1t qz Zunn 1300 4 5,20
444tI760/l 9mqurnurhh ronroh hurhht trhururn ru q2 2ruur 2500 2 5,00
39299310/r Zurrhrh rur urutnhLh tnsurhurtnLl q2 Zurur 6000 I 6,00

rlfbLuquL LSnhrlbc L qnuuLbSuquSFL,lhsnhSeLbf 728.35
30141200/r Zrurrlururunp, cnuruhtrrurburrhh UU hurur 5200 3 15,6
30799792/r OFrugmlg uu Zurtn 800 3 2,4
30192t25/r Uurnlrtn uu Zunn 140 5 0,7
30192125/4 Uurnhhn BnBh nhnhl: UU 2uru 770 8 t,4
30192125/5 UurnUtn roqBh Lutrur uu 2urtn 170 8 r,4
30192125/2 Uurnhhn uruturhm uu 2urtn 500 15 7,5
30192725/3 UrunLtn uu Zuln 300 15 4,5
30197230/4 9nhhruburh ruhurmrptrhnh rnurtnhn uu Zruur r600 2 3,2
30t97230/5 fdnraurnurnurh 4 nurdhho uu Zunn 7000 2 r4,o
30199420/r t,rnttfh Dnl-nft' uu Zurtn 800 ) 4,0
30197231/t - $utlL uu Sm{r 990 25 24,8
39263200/l Qnruuhhrurhurrhh chnp UU 2ruur 760 50 38,0
39263200/2 9nuruhlrturLrurhtr qhnp 60tq uu Zruur s50 3 r,7
39263200/3 9nuruhtrturburthtr chnp 100 kq uu Zruur 960 3 2,9
30192130/1 Uunnhur uu 2uun 100 100 10,0
30t97230/l fanroul:lruhruh uu Zrurn 150 100 15,0
30197230/2 flnraurur rutrurh nhqhuun 8uil uu Zruu 1000 50 50,0
30197230/s flnrauru urhurb nhqhurrrn 8ud UU Zunn 750 6 4,5
30197230/6 fln rauru urhurL nta.huun 4uil UU 2rurn 750 l0 7.5
30197230/3 Upurqurllurp uu Zurur r00 100 10,0
30197230/4 Unurgurt urn rut uruurhb uu Zuln 200 60 12,0
3019212r/1 ephr UU Zunn 100 200 20,0
30r92t2r/2 Qnhl bruurntrur UU 2ruur 100 24 2,4
30t92121/3 Qp[2 \un:1mpn purpur\ burlpml uu Zurur 2s0 T2 3,0
30t92r2t/4 9nhl turnrihn purnurL burrnnrl UU Zuln 250 t2 3,0
3019212r/5 Qnhr uh nurnurt Eurrnnrl UU Zurtn 250 t2 3,0
30197622/I - fdmlra U4 uu Smrh 2000 100 200,0
30197622/3 fdmrrra U4 uu Smrh 2250 70 r57,5
30t97622/2 fdnuro U3 uu Smrh 4500 2 9,0
30197622/2 Onurn U4 fulhuh uu 2unn 100 50 5,0
30197rr2/1 9*nh>h rlhurtuqurl urn hurqhn, rihlhlt uu Snr-r'lt 120 10 t,2



30197112/2 9urnhlh uruhntrhn UU Snulr 300 5 1,5
301971t2/6 9urnhlh ruuhnhhn 2616 uu Sndr 155 10 1,55
30197Ir2/3 f+nroh burnhr uu Zrurn 1500 5 7,5
30197112/5 fanrah turnhr 2616 UU Zurtn 1350 ) 6,8
30197tr2/4 9ndqunlhhp qmhunlnp uu Smrh 1000 3 3,0

1891 1300/l U\purn uu Zurur 4000 2 8,0
1891 1300/2 U\purur \htrgurlurl[rl: uu 2urtn 490 5 2,5

30197231/l
fdryaurulurtrur\[ qn1]r rlhpurl lrh purqurhp,

$urrr 50 rthn uu Zuln 1050 3 3,2

30100000/1 .[.{.} f[ uu 2urr,n 150 20 3,0
30199410/l hhpLurunufrhS,rlnrl flmrya (1h1pf 68 rlurufrg uu Zurur 70 70 4.9
3014t200/2 2ur2{fr2 uurpp purnu.r\mu}r ruprluln hur2rln4 uu Zuur s800 I 5,8
39263520/r Olfntnh uhqdu\ 5l tIil uu Sn .h 8,{0 5 4,2
39263520/2 far1atph uh4rfur\ 32 rll uu Snuh 380 5 1,9
39263520/3 Onphnh uh4du\ 19 rftI UU Sntrh 210 5 1,1
39292530/1 Purhnh 30urJ uu Zuru 220 5 1.1
39292530/2 €urhnL 50urf UU Zurvr 500 5 2,5
42991100/r 9uqilurpurpulluh uurpphp UU 2urr,n 35000 35.0

ufsuzuqnhuS 771.0
18311190/1 fuurt urra uh prurfnurt tru uu 2rurn 6000 1 6.0
18311190/2 fuurlurp burulntlrn uu 2uru 4000 I6 64.0
18311190/3 fuur1up uulfrunulq uu Zrurn 3500 166 581.0
18111200/1 trurhr]nnruh ruh urnuruhluqrluln UU rtnrlu1 12000 10 120.0

hlbqsfnsbn L hqU, nUahnsbtuLhtrU L qbL3U"\U3f'L uafuLgLbf 4,134.5
39711140t1 Uurnhrunurtr hhhqunurhL qz Zrutn 150000 8 1,200.0
32550000/1 Zhnrulunuh ruutrunlurn q2 Zruur 5 8000 40.0
3831 1 100/1 h1h\upnlnulfrh \2hnp qz Zurur 80000 1 80.0
38311100t2 hrhLtnnnhurrhtr brtnp 12-20Lc qZ 2unn 20000 I 20.0
39721500/r Surpurgmglrl q2 Zuln 6500 I 6.5
39721500/2 gtrrpurqmgfu) qz Zruu 27000 4 108.0
39721310/l h ht tnnurt urh ulupuqmqhr ft urr nnh$hn) qZ Zruu 7000 2 14.0
38431570/I hr.uurrhlr cIz Zruur 6200 30 186,0
3843ts70/2 hr.uurrhL SZ Zruur 15000 30 450,0
42I2rr50/1 Qnh runtiul qZ 2unn 25000 2 50,0
33100000/1 ?npurtng 501 q2 Zurtn 600000 1 600,0
38311100/3 I{thnp h hhurnntrurrhtr,3rahrl,600 onuril qZ Zuurr 450000 I 450,0
38311100/4 Vlhnp 2 prlh d2urmBruulp qz 2uru 60000 I 60,0
38431570/3 Aurb hhlrurnurLurh uurlhL, 1 rnhnurhnq q2 2ruur 1s000 2 30,0
42500000 Onurhnilurqnlqht s2 Zurtn 40000 L 40,0

38311100/5
h1h\urpur\urh \2hnp rlfrh2h 360 qpurtf

trnnl
qz

Zunn 200000 1
200,0

3831 1 100/6 &rqnhrn phrihurLruh hrhnp q2 Zrurn 200000 3 600,0
quIlbr.uL3I1h obfL guu3nhlbr 723.2

09132200/r- rhhqhh, nhgntllurn uu L 450 200 90.0
0941 1500/1 rlhraurh curq UU trq 300 800 240,O
09411300/1 ulnnuturh qlxq uu L 300 360 108.0
09134240/r alrqhlrulfrtr rlurnhhp, urr.furnurrhtr uu L 460 100 46.0
092lrtrc/r 2ulrdh)h lnqtD uu L 1600 t2 t9.2
24321660/1 .{ur\nr-mri pr-r1 q2 t 2200 100 220.0

rabrrlbl 947.6
222OOOOO/L Unur{mn uu huru 200 258 51.6
2220OOOO/2 ![n1nu Unrihtrhh UU hunn 200 52 10.4
22200000/3 Zurturuururhh trdrhurqhrnnll?'lnltr uu hurur 1800 4 7.2
22200000/4 Zurlururnurhlr thhuurpurhurhurtr Zurhnhu UU hunn 1800 4 7.2



222OOOOO/s Zurturuururhhh €hrihurhurh Zurhnhu uu hurtn 1800 4 7.2
222OOOOO/6 dmphrul op2)hl hhilhh uu hurtn 27000 t2 324
222OOOOO/7 dmptrurl onqurhhltutnr luhrlhh uu hunn 27000 T2 324
222O0OOOl8 Surprlurclrur UU hunn 27000 8 2t6

Lutrnfusnf qbLauLFLbr 2,g2g.o
03320000/1 I-Imh turpnnrurnnn s2 Zurur 1000 1340 1140.0
03321800i 1 duqrun UU Zrurn 11000 28 198.0
03320000/2 llnhhrn qz Zuln 2000 590 900.0

zuuuqurq2u3FL uqruL€Lbr L qurusruLbr 2,910.5

3rr5tt20/1 Uhfu rurllutr uhmgrftutr uurpp sz hurur 30000 2 60.0
3023223r/1 rtn2tn u\rur]runur! ct2 hunn 30000 1 30.0

30237280/1
2urilur\urpq2fr utrntgilurh hurhqnr-1g]r

hnrlurqmohl

q2
hunn 2000 10 20.0

3023223t/1 ZuniurLurnqlh bnzrn uL urd urnurlr o-t huur s0000 1 50.0
30236100/1 ZulJurb runqlh rl hntnpurnur qz hurur s0000 1 50.0
30239130/1 Srl hl purqrfur$mhLqhnhurr qZ hunn 150000 2 300.0
30234620/1 $rtr hhrnnmplnr-tr q2 2urur 4500 2 9.0
30234620/2 5rhr hhrnlmrarmh l6QF s2 Zruur 10000 70.0

3023223r/r CD u\rurlrunur\
SZ

Zrurn 2s0 30 7.5

30237460/t- Zurilur\urpqlurl bL uurtrltrur2rup q2 2urur 6000 2 r2.0

30121500/1
Luqhpurl[L uulh$ puprnFb2 qZ 2uru 1s000 4 60.0

30237r12/l
Zurilur\urpq2fr uLmgrlurh pln\ 550V sz Zunn 10000 4 40.0

30121500/l \*n-ptr: qZ Zruur 20000 4 80,0

30237412/r .I\tthq ruLlurp sz Zrurn 10000 5 50,0

38s20000/1 U\ruhhp sz Zruu 40000 1 40,0

3023462/3 $1h2 hfr2nqntplnth 0.5 9tr qz Zurur 2000 ) 10,0

3023462/4 S1h2 hfr2nqnr-p3mh 1 9tr qz Zunn 2000 5 10,0

3023462/5 51h2 hlr2nqntplmtr 32 qtr qZ Zunn 5000 2 10,0

3023462/6 $1h2 hlr2nqntplmh 64 gtr qz Zunn 10000 I 10,0

3023462/7 S1h2 hfr2nqntplnth 128 qtr qt Zunn 10000 1 10,0

3rr5r120/2 Uhluulllutr ulmrgrlurtr uurpp q2 2unn 550000 I 550,0

302tI200/I Lnppmp q2 Zuln 550000 z 1100.0

30239130/2 trurqriur$nr-h\ghnLurl urqlr2 3-g 1 -nttl qt 2urur 130000 I 130,0

31 100000/1 Zn{urgmg}r2 bnmppmp}r hunlurp q2 2urr.n 7000 I 7,0

30239130/3 trurqrfur$nttr\gfrnhurl urqlr2 3-p 1 -nr-il SZ Zurur 135000 1 135,0



30237310/r €*pfnph: CTZ Zunn 15000 4 60.0

qfuubL3uquShL qu2nr€P 900.0
39111180t1 Urann uu Zrurn 15000 60 900.0

qbr
212.5

32t1400/r Zururlrq qurplr uu 9q 200 1000 200.0
3211400/2 Zurdurlgrlub hhn UU Irq 250 50 12,5

uctuusuLPLbc
570.0

'29800000 Sulurqpnrplnr-tr uu. Zrurn 3800 1s0 s70.0
Ounru3mp3mhtrhp 54,281.46
65211100/1 Qurqlrpur2|umrl uu 4nurd 9332200 I 9332,2

65311100/1
h1h\rnpur\urbnrplutr pur2|unuf uu 4Furil 202 LOO

0
1 2024I,0

651 1 1 100/1 furlhlnr gplr pur2|umrf UU 4nrurl 3537000 1 3537,0

64211100/1
Zurtrpurl lrtr htnurlunuurl|rtr
burnurlnrBlnthhtn

qz 'Ipruri 2756800 I 2756,9

s03i 1 120/1 hunfur\urpqturlbh uurpphplr
qurhululnlurtr h rlhpurbnpnqilurh
burnurtmBtmtrhhn

uu 'Ipruri 720000 1 720,0

50311120/2 C*pfrph gh fr gpru{nnpriurtr
burnurlmBlnth

uu 2ruur 4000 40 160.0

s031 1 120/3 Qmhuulnp purnpFlr2h frgprurlnnpriurtr
burnurlntplmtr

uu Zunn 10000 5 50.0

e051 1 150/1 Uqfh +olo*4plfurtr brunurlnr-plnttrhhp uu 'Ipruri 951700 1 95r,7

7998ILOO/7 prudurtrnp4urqrrirutr Eurnrul mp3nr-htrhp UU 'Ipuli 957900 1 957.9

726LIIOO/I huniur\urpq2ur1 [tr rnh]uhlr[ur\urh
odurtnurL rlurtr burnurt ntrol nttrtrhn

uu 'Ipruti 900000 I 900,0

60477200/r Urlfruruntfu uu 'Iprurt 950000 I 950.0

48767t00/I hru\unllrpmurul |rh huniur\rupqlurJ htr
Enruqnurt htr rhurratratrtn

UU Zuln 12000 50 600.0

79821170/r Sulurqprullutr h urnrupriurtr
burnrulnplmhhhn (hnurhrutrq)

uu hruur 7 10000 70.0

79827170/2 Squrqpur\ruh h urnurpr.truh
burnurlmplnthhhn (hnurhurLq)

uu huru 6 2500 15.0

79821170/3 Suprqpur\urh h runruprlurtr
burnurtmptnr-trtrhp (hnurhurtrq)

UU hunn 10 1000 10.0

85141300/1 ahrlurqnpEur\urh burnurSmplnr-hhhp qZ hurtn 72 100000 7200.0

85741300/2 'IhqurqnpEur\urtr burnrulmplmhhtp qZ hurtn 20 25000 500.0
85141300/3 ahrlurqnpbur\rutr burnurlmplmhhhp q2 hunn 3.7 10000 37.O

722671.70/t - Upurqpur3|rh ruulurhntldurtr
burnurlmplnthhhn

uu huln 20000 2 40.0

72261110/2 Opurqpur3]rh urrqurhmlrlurtr
burnurlntplmhhhp

uu hunn 10000 1 r0.0

75731100/t 9urquruulunrlurtr hulfur\urpqlr
urhluhf ur\ur\urh uquruurp\rfurh
brunurlntBlmh

uu rlpuil 94856 I 94.856

77311200/r Surpurbp[ purph\urpqrfurh burnur3nr-plnr-tr uu Zunn 800000 I 800.0
77311200/3 9nlnqurqElr rlurppilurtr burnur3ntp3nr-h uu Zruur 600000 I 600.0

77317200/4
Uurn hrupurhhhplr rlhpurtnpnqrlurh
burnurlntplnth UU Zurur 200000 t

200.0



66510000/1 Uut rrl}nrl urcnurh urh Eurnurlntralnthtrhn UU Zurur 300000 I 300.0
64110000/1 @nuururthh brunrulntptnr-hhtn UU tlnuril 500000 I 500.0
73432100/r Utrbruh qhruhunnnrlh burnrulntBtmh uu tlnrurl 120000 I 120.0
90521310/1 €}rrff ur\utr pur{rnhhhp}r n2h2ur grirutr

burnurtntratnrh
uu 'Ipunl 900000 1 900.0

65111200/1 Onnqilurh gplr pru2funrtt UU g.a l1 r8000 198.0
45341700/I 9nrut rftunhlh r hqpruilnnntil UU Zurur 4200 50 210.0
60771710/l Urlurnilhphhurth rlurn&urt url mBrnttr uu Zuun 420000 I 420.0
99600000/r Utt buluuhn q?o tlnrut[ 900000 I 900,0
cLauubLc

a 117,925.67


